
Verkstadsinredning Profi
Workshop interior, heavy duty

Item No: 
509665 
513302 
513303



Kontaktinformation
Verktygsboden Erfilux AB 
Källbäcksrydsgatan 1 
SE-507 42  Borås
Telefon: 033-202650 
Mejl: info@verktygsboden.se

Miljöskydd / Skrotning
Återvinn oönskat material, släng 
det inte bland hushållssoporna. Alla 
maskiner, tillbehör och förpackningar 
skall sorteras och lämnas till en  
återvinningscentral och där kasseras på ett  
miljövänligt sätt.

Contact
PELA Tools 
Solängsvägen 13 
SE-513 70  Borås
Telefon: 033-202650 
E-mail: order@pelatools.se

Environmental protection / 
Scrapping
Recycle any unwanted material, do not 
throw it in the household rubbish. All 
machines, accessories and packaging 
must be sorted and left at a recycling center and 
disposed of in an environmentally friendly  
manner.

Kontaktinformasjon
Verktygsboden Erfilux AB 
Källbäcksrydsgatan 1 
SE-507 42 Borås
Telefon: 033-202650 
E-post: info@verktygsboden.se

Miljøvern/kassering
Gjenvinn uønsket materiale. 
Det skal ikke kastes sammen med 
husholdningsavfallet. Alle maskiner, 
alt tilbehør og all emballasje 
skal sorteres og leveres til en 
gjenvinningsstasjon og kasseres 
på en miljøvennlig måte.

Kontaktoplysninger
Verktygsboden Erfilux AB 
Källbäcksrydsgatan 1 
SE-507 42  Borås, Sverige
Telefon: 033-202650 
E-mail: info@verktygsboden.se

Miljøbeskyttelse/skrotning
Genanvend uønsket materiale, smid 
det ikke i husholdningsaffaldet. 
Alle maskiner, alt tilbehør og 
al emballage skal sorteres og 
afleverespå en genbrugsstation, 
hvor det skal bortskaffes på en 
miljøvenlig måde.

Yhteystiedot
Verktygsboden Erfilux AB 
Källbäcksrydsgatan 1 
SE-507 42 Borås
Puhelin: 033-202650 
Sähköposti: info@verktygsboden.se

Ympäristönsuojelu /  
Käytöstä poistaminen
Kierrätä käytöstä poistetut materiaalit. 
Älä hävitä niitä talousjätteen 
mukana. Kaikki koneet, lisävarusteet 
ja pakkaukset on lajiteltava ja vietävä 
kierrätyskeskukseen, jossa ne 
hävitetään ympäristöä säästävällä 
tavalla.



Hex Bolt
(M6x16)

Nut
(M6)

Hex Bolt
(M8x16)

Tools Needed

Hardwares

Sunk Screw
(M6x16)

1

Pencil

Tape Measure Magnetic Leveler

Phillips Bit

 socket

Cordless Power Drill

Adjustable wrench

Socket driver 
wrench

Masonry BitPhillips head 
screw driver

Set   Square

1

1 2 3

2

3



Worktops

28" Worktop. Fits over 1 Cabinet 56" Worktop. Fits over 2 Cabinets

85" Worktop. Fits over 3 Cabinets

Weight Capacity

Double-door Locker
Max  300Kg

Single-door Locker
Max  180Kg

Wall Cabinet
Max 15Kg

Hanging Panel
Max 5Kg

Base Cabinet
Max 100Kg

Drawer Cabinet
Max 650Kg

Trash Bin Cabinet
Max 290Kg

50Kg

50Kg

50Kg

50Kg

50Kg

50Kg 30Kg

15Kg

30Kg

30Kg

30Kg
30Kg

30Kg

30Kg

30Kg

30Kg

30Kg

30Kg

75Kg

75Kg

40Kg 200Kg 200Kg

75Kg

75Kg

75Kg

75Kg

2

5Kg



Installation options for Cabinets
Important information: Please read
before beginning installation.

Layouts shown are only examples.
Based on customer's purchase,
cabinets can be configured in a
variety of different layouts.
Consider the location of electrical
outlets when planning layout.

3



Installing  Pillars
Hardwares Needed.

Hex Bolt
(M6x16)

Rivet Nut

4



Installing  Pillars
Hardwares Needed.

Hex Bolt
(M6x16)

Rivet Nut

4

Installing Hanging Panels
Hardwares Needed.

Hex Bolt
(M6x16)

Nut
(M6)

5



Hex Bolt
(M6x16)

Nut
(M6)

Attaching Cabinets together

Hardwares Needed. Attach Locker and Base Cabinet

Position and secure remaining cabinets to wall. Install cabinets one at a time.

Attach Drawer and Base Cabinets Attach Base Cabinet and Corner Workbench

Attach Base Cabinet and Work Bench Removing Drawers

Right Side

Left Side

Press the drawer's side parts as shown
simultaneously to remove the drawers.

6

Hex Bolt
(M6x16)

Mouting the Woktop

Hardwares Needed.

7



Hex Bolt
(M6x16)

Mouting the Woktop

Hardwares Needed.

7



Installing Wall Cabinet
Hardwares Needed.

Hex Bolt
(M6x16)

Nut
(M6)

Hex Bolt
(M8x16)

Pre-assemble the Bolt
on the Panel.

Hang on the Wall Cabinet and
fasten the bolt.

NOTE: This step is for 3 types of wall cabinet.

9





Verktygsboden Erfilux AB Källbäcksrydsgatan 1, SE-507 42 Borås

 ©
 V

er
kt

yg
sb

od
en

 · 
Bo

rå
s 

· S
w

ed
en

 · 
01

20
50

4-
03


